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B 500 BE3
Z: 510 2DEX3S
8 511 RNEX3ES CEEED
Z-p-g-2 0 &k o4 plE-T" HR 52
=R 14,083, 124 9,611,691 4,471,433
500 252 13,872,164 9,400,731 4,471,433
510 202 E2S 9,930,350 6,442,450 3,487,900
511 2L E3S 9,930,350 6,442,450 3,487,900
511-01 2 DR X3 4,915,850 1,427,950 3,487,900
[ 2ura | 4,915,850 1,427,950 3,487,900
< YLD > 4,915,850 1,427,950 3,487,900
On%e Jtsel W=7 0 0 0
SEERINVES [EE 0 0 0
OS2 0185S5 480,000 0 480,000
Ostutel 7 A 30,000 0 30,000
OX158 BAZ(2ett) AL TH=R(SYH) 864,399 0 864,399
ORX158 BAZ(Zett) O, £4SSA NHSR(SYH) 281,749 0 281,749
OR165 EAZ(LHHH) OIRAIL TloH=T 828,697 0 828,697
ON165 ENE(LH) SZSHILHS TIoH= 83,635 0 88,635
ORX165 EAZ (&) AFSDeHbIX T 131,716 0 131,716
ORXI165 EAZ (&8 o HHXRS 13,300 0 13,300
ON165 EHE(LHH) O, 0RO S4SAA THET 569,404 0 569,404
OHM16S ENZS(4tHh) aHeM Dl mai=s2(Hd8d) 200,000 0 200,000
520 Al - GHIEE2S 3,941,814 2,958,281 983,533
521 Al - CHIEE2S 3,941,814 2,958,281 983,533
521-01 Al - GHIZE3S 3,941,814 2,958,281 983,533
[ 2eral | 3,941,814 2,958,281 983,533
<MLL > 3,941,814 2,958,281 983,533
OJtsel D42 M= 26,250 0 26,250
OXZ AR Hoi=T 39,225 0 39,25
OS0UX 0185Ss 48,000 0 48,000
OX15% EAZ(Z2t8) OBAS DH=R(SYH) 432,197 0 432,197
OX15% EAZ(Z2td) O, £ 4SSN NH=SR(SYH) 60,375 0 60,375
OX16% ENZ (&) SHEHZ S Tof= 15,457 0 15,457
OX16% ENZ(&HH) AFS2efbIX ToH= 22,970 0 22,970
OX16% EAZ (&) OBAILS TH=T 144,519 0 144,519
OXl16% EAZ (&t ToH WX 2,850 0 2,850
OX16% EAZ(&HHH) O, 0{ RO S4SSA Toh=R 122,015 0 122,015
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